® THE AL STAINLESS ACCESSORY COMPANY / //\/5];4 L [ A jyojv*_
NAS m INTERNATIONAL, INC. Vivis 70,

Div. of TA CHEN INT'L CORP.

T.oi'r'i;):TA TUNDRA EXTENDED CAB 2007-08 i

PART# 76-4077

13mm SOCKET

13mm WRENCH

7/32" HEX WRENCH (ALLEN)
RATCHET

TORQUE WRENCH

STAINLESS STEP BARS ( 1 DRIVER SIDE ; 1 PASSENGER SIDE )
STAINLESS FRONT BRACKETS ( 1 DRIVER SIDE ; 1 PASSENGER SIDE )
STAINLESS MOUNT BRACKETS ( 1 DRIVER SIDE ; 1 PASSENGER SIDE )
STAINLESS REAR BRACKETS ( 2 DRIVER SIDE ; 2 PASSENGER SIDE )
STAINLESS M8XP1.25-30mm HEX BOLT

STAINLESS M8 LOCK WASHER
STAINLESS M10 BUTTON HEAD CAP SCREW

STAINLESS M10 FLAT WASHER
STAINLESS M10 LOCK WASHER

2

o

2

4

16

16 STAINLESS M8 FLAT WASHER
16

16

16

16

TALLATION T
%1 CHECK CONTENTS OF BOX FOR DAMAGED OR MISSING ITEMS.
REMOVE EXISTING BOLTS FROM INTER PANEL.

FASTEN MOUNT BRACKETS TO VEHICLES INNER PANEL USING
(2) M8 x P1.25-30 mm HEX BOLTS, (2) M8 LOCK WASHERS,
(2) M8 FLAT WASHERS ON EACH BRACKET HAND TIGHTEN ONLY.

4 POSITION STEP BARS IN PLACE AND FASTEN TO MOUNT BRACKETS USING
(8) M10 LOCK WASHERS HAND TIGHTEN ONLY.

5 LEVEL STEP BAR. TIGHTEN ALL BOLTS REMOVE PLASTIC RAP FROM BARS.
* HAND TIGHTEN ALL BOLTS BEFORE USING ANY TIGHTENING TOOL.

FOR ANY NEEDED ASSISTANCE CALL NASTA INTERNATIONAL, INC. (423)764-0700



o
_HAND TIGHTEN ALL BOLTS BEFORE USING ANY TIGHTENING TOOL.

Center Driver |

#7640
| e ;
Al R

DRIVER SIDE

MBXP1.25-30mm HEX BOLT
M8 FLAT WASHER
<" |MB LOCKWASHER

Rear Driver

|
Rear Diiver |

A i MBXP1 25—30rr|m HEX BOLT
B FLAT WASHER
[l /(M8 LOCKWASHER

M10XP1.5-25mm| %
BUTTON HEAD BOLT| -~~~
M10 FLAT WASHER!|
Front Driver N M10LOCK WASHE RJ
y N
N i
W .
5, e
e "
gM‘\i)XFl 5-26mm it
FBUTTON HEAD BOLT wy -
*IM10 FLAT WASHER T
,5/ [MI0LOCK WASHER™ ! ﬁ:iﬁ‘g
. g L e STEP BAR
MBXP1,25-30mm HEX BOLT |
M8 FLAT WASHER i
8 LOCKAWASHER J i

MI0XP1 &Zﬁmm"
BUTTON HEAD BOLT|, ~

M10 FLAT WASHER[

110 LOCK WASHER

-
7

FIGURE 1
DRIVER SIDE SHOWN-PASSENGER OPPOSITE

3 e ® NASTAINTERNATIONAL, ING.
l' Div. of TA CHEN INT'L CORP,
- 100 Vance Tank Road antol TN 37620 U.SA.

TEL: (423)?64~97£}0 FAXMES}?M 7849.Toll Fme(ﬁ??)sm 0816
~ www.nastainternational. com



